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Which 1s known as Art and Science of Teaching?
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In this stage learners are self motivated and self directed
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If few students disrupt class the effective way to control this indiseipline 1s by:
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Options:
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Punish them physically
BV A
% éﬁfﬂﬂﬁ@h 2L

Give them a Memo
o] Emsf:ﬁm:@té@r

Change seats
4 v SR @HEeR) Srond

Question Number : 5 Question Id : 27028217562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:
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Options :
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Project work
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This refers to the degree to which research findings can be applied

to larger population
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In which type of Research it 1s more about moving from “General Population to Particular”
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Which of the following scale is used to assign events or objects into discrete categories
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Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
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Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.
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The phrase ‘tangible ’ means
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The author compares her childhood waith the
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The phrase- ‘| was without compass,” means:
B AEFHD) BROT® GO ), ©@F G058 @0
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The synonym for the word ‘harbor’ in the above passage is :
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The first three lines of the above passage reflect .
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Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.
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errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
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messaging refers to the pitch, flow and tone of the
voice.
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In the place of work, people respond to ideas that are
presented with

3BT B0, & 290000 eSO (Hasen
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Options :
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___listening can help you address conflict or problems within

the team
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Correct Marks : 2 Wrong Marks : 0
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A worker reaches his workplace 15 minutes late by walking at 4
km/ph from his house. The next day he increases his speed by 2
kmph and reaches m time. The distance from his house to his work

place 1s
2,8 5205068 ¢5c) 2063 D0 K0&%) 4 8.50 Jod IGD 15 Aaren
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If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are
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If mean and mode of a distribution are 6 and 8 respectively, then

the median 1s
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The questions 26 to 29 are based on the following data.
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Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.
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Who 1s the lawyer?
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Anup
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Priyanka
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Who i1s seated between Priyvanka and Anup?
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Options:
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Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
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Priyanka is a lawyer
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Anup 1s a Doctor
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From the statements below, all the following are true except
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Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.
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Professor sits between Doctor and Lawyer.
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2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
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Mohit and Doctor are seated adjacent to each other.
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In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?
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Note: Answer the questions 31 to 35 based on the data provided below.
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.
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S.No. | Investment Sector Amount. (crores)
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1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
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6 | State Govt. Sector 110
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The percentage of gross investment in state government securities nearly
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The magnitude of angle COF i1s nearly
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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education 1s.....
g 6° b HerdEd) Do o DRI Erded® geK kg oo #Bad D5

SSH5HS B

Options :

eQuality Program
., 3500 DS

eSkwela

5 % a MR

Digital Media Arts Program
Esbd Holair b [©frro
3. %

PheDNET

Question Number : 40 Question Id : 27028217600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

E-Governance 1s technology to provide................
B- SBFreS BIOS D8 FososE

Options :
A platform for exchanging information

HEPerorl) SrE)EHODH 2.8 308
1. %



A platform to provide services
DI0H wobotHbhd a8 I08

A platform to transact with citizen

3 % OIS HFESBoHHS 2.8 08

All of the above

Y
4.+
Sub-Section Number : 9
Sub-Section Id : 2702821296
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 27028217601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following was not a Millennium Development Goal?
& [Bob 08 26 OIHD ediHh oo sH?

Options :

Improve maternal health
Sre)ey eBirpEn BrhHt

Ensure environmental sustainability
HoegHe KoFHED GOy HPHe:



Eradicate extreme poverty and hunger

3 % &0 258%0, D é@c}:ﬁjé}

Ensure healthy lives and promote well-being of all at all ages

w8y ZdEn Gothidly, ) Sabie wolb [Bard) [Bienrstiht
4. '

Question Number : 42 Question Id : 27028217602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
& Q1D BEwe [HE)S Qﬁééﬁ@éﬁ 2B SN wod P33 Dk Rogra¥ Soth?

Options:

Earthquakes
1 % ZirEoaren

Forest fires
eofia) @ﬁcl

Volcanic eruptions
@ﬁ&b’:ﬁﬁié ool [ﬁ')ﬁmﬁ}



Droughts and Floods
8B, K

Question Number : 43 Question Id : 27028217603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Carbon dioxide 1s primarily called a greenhouse gas because of ..................
ﬁ“@@ﬁn& AN [Brrdorr iwaér‘%eéﬂ Trding) ©oth%). JOLIENT sersressssssssanes

Options :

Traps heat
B8 HtnEolnod

Traps light

se0fd) ﬁﬁ}gﬁ"oéﬁo&

2_ w
Traps warm currents
S8 [Harstord HenEPotnod
3. % =
None of the above
Eﬁiﬁ =8
4. ®

Question Number : 44 Question Id : 27028217604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Solar energy is .......cvveee.
Derth OS50 e

Options :

Non Renewable source
SHXBe3aHBD 555

Conventional source
rolParahE S5

Non-Conventional source

earoRNmrahl S5k
3.

Exhaustible
DS EOADH

Question Number : 45 Question Id : 27028217605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The primary agenda of the Kyoto protocol is ...........
850 (eSS |55 eBEone

Options :



Regulation of hazardous wastes
35065 oo EHofEbohe

1.%
Regulate the production of nuclear energy
e 68aD [BHodEBohe
2. @ —n =¥ ) - [~
Control anthropogenic sources of greenhouse gases
aeBies rj;,aﬁ“a“cﬁmé)e: ﬁjﬂﬁﬁﬁcﬁé e dcho|Be
3. %
None of the above
4% @5&) =8y
Sub-Section Number : 10
Sub-Section Id : 2702821297
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 46 Question Id : 27028217606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The oldest University in India
zoBaSrE® Hoees D& Dorgedho

Options :

Nalanda

1 % Moo



Vikramshila

oyt
5 % o:'[:.efs}-ﬁﬁ:a

Takshashila

5580
3. ¢

Mithila
4, % 00O

Question Number : 47 Question Id : 27028217607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The concept of Meta University was adopted by ...............
oty éjrﬁoﬁtjgjmgﬁcﬁﬁo rameD Sarabodnd

Options :

Osmania University

1% &ﬁt@g_‘adﬁ}v D& Do

Delhi University
ah A Doegecho
2,0 W

University of Hyderabad

rdTrarth DERmRgeaho
3. %



Jawaharlal Nehru University

2350 ord JgTo DEPogeddo

Question Number : 48 Question Id : 27028217608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s related to the New Education Policy 20207
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
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Who among the following has/have prominently contributed for conflict
ideology?
500 BE° DG Soangee grDErerlS sugorr (TS0 Der5?

1. Karl Marx 1. Herbert Spencer
gehvlel) AR5 b
Q ! NEd )
111. Bronislaw Malinowski iv. Ralf Dahrendorf
@R DOI D), o) BEFGEY)
Options :
1 only

1 % 1m0



1 and 1v
> 1 308d%0 v

1 and 111
3 % 1598050 i

1and 11
4 % 130840 n

Question Number : 52 Question Id : 27028217612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A statement of relationship between two or more variables that 1s put to test 1s
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If change 1n one variable always induces change in another variable. 1t 1s known
as:
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Karl Marx identified charismatic form of authority among others.
grai (A): 50570 G)) wiSE06°0) HADS Soeodaren Sebgpen fhiowr,

Reason (R): Charismatic authority rests on the appeal of leaders who claim
allegiance of people because of their extraordinary assumed or real ethical, heroic
0r religious prowess,
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Children born to partuers in ‘live in relationship” can be ¢
onsidered legitimate.

Reason (R): Children bom to partners in ‘live in relationship’ can be considerad
legitimate provided that the ‘live in relationship’ 1s for a long term.
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Arrange the following major works of Talcott Parsons in the order they appeared.
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1. Essays i Sociological Theory ii. The Stmcmre of Social Action
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1. G H Mead a. Dramaturgy
2,378, & 550820
2. Alfred Schutz b. Ethnomethodology
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Who among the following Sociologists belongs to the ideology of Structural
Functionalism?
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1. Michel Foucault 11. Talcott Parsons
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1. Auguste Comte a. Organic Analogy
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2. He1be1‘t Spencer b. Action Theory
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Match the following Articles that are concerned with upliftment of Scheduled
Castes:
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1. Article 15 a. Promotion of educational and economic interests with
special care
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Smializ*ition is internalizing a way of life that 1s called culture.
gHI(A): F03nS88m BB Do 8T IRt 8 £D8 Jr) wossHEt0D
&%5¢0.

(LLE

Reason (R): Culture is a complex whole that includes everything the individual
Shﬂl&% with other members of society.
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‘A’ 1s correct and ‘R’ 1s false
5 % ‘A’ 38359 s0bain ‘R’ {050
‘A’ 1s false and ‘R’ 1s correct
3 % ‘A’ HBsrth 0baiw R {058

Both *A’ and ‘R’ are false

4 % ‘A’ s0Bcin ‘R’ Bodr X0t

Question Number : 63 Question Id : 27028217623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Who said ‘Primary El‘D‘Llp is the nursery of human nature’?

Ereiang S BR0 PSS Qgraras Hoa0800d & fﬁé 8l Jafanh?

Options :



g IE} Davis

Charles H Cooley

—'—_-EF AT "'- "f"'c.-:-

2. &

David Mandelbaum

- GO SrodderD

Max Weber
58 b

Question Number : 64 Question Id : 27028217624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the following books authored by Malinowski m the order they were
publialled'
) 56“4, S0tk Bob Gdde @) a‘i:’uﬂo:feati nod@do werdore (Saod”
@006,
1. Magic. Science and Religion and other Essays

Sref, PN) 9of 692ADS @of wid JR

11 The Sexual Life of the savages in North Western Melanesia

& REHS B9 =5 & DIed 83 T8 3 93 e Shaie

. Agronauts of Western Pacific
£ = E
[Pt =B RS SHHS

iv. ﬂx Scientific Them'v of Culture and other Essays
o PoBYE HIN0 ©f B0d ®of witid JR

Note: For this question, discrepancy is found in



guestion/answer. Full Marks is being awarded to

all candidates.

Options :

11, 1t 1'*111::1 ir

1.

111. 11. 1 and 1v

i1, 11, 1 Sofdo 1v
2.

1v. 11, 1 and 111

1v, 11, 1 SHfcho 11
3.

1. 11. 1v and 111
4 1, 11, 1v o8¢50 111

Question Number : 65 Question Id : 27028217625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are the book/s authored by Clifford Geertz?
Bob 86 850 .’léﬁ @0g), S0 2?

1. The Interpr etation of Cultures il. Agl‘i{:ulmre Involution
& moLbHEaS o 5 N8y oS0 BRTURER

ii. The Religion of Jawa v, Recouc epmallzmcr REIlElDll
& bdadhe =5 & O =@ ﬁ@aaﬁ =5 8DEcHD

Options :



1 and 1
1 08co 1

1. 11. and 111
1, ii, S08a5» il

11 only
11 23m(g8o

1, 11. 111 and 1v
1, ii. i1 SH8aw 1v

Question Number : 66 Question Id : 27028217626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the following in tune with R K Merton’s theory of deviance
08 Do DIOSEEHSEN vorodo egrdore (8ob A adNdsod:

ListI
588 - T
1. Accept goals and accept means

(]

©5%e Sardo Hidn FrgTre earto

. Accept goals and reject means

OSBO SarG0 HBA arPTre S8R0

. Reject goals and accept means

ogHe 8558 sHBan PR eSS0

. Reject goals and reject means

osHeo 88906 0N rare 85550

Options :

List IT

288 - 11

a. Conformity
VAV Eevilalel

b. Ritualism
ﬁoﬁgﬁi’&“ a0

¢. Retreatism
2emas aeiso

d. Innovation
NATEeN aPH0



Question Number : 67 Question Id : 27028217627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

l-a 2-d
1-b  2-a
l-a 2-c
l-a 2-b

3-b  4-c

3-d  4-c
3-b  4-d
3-d  4-c

Correct Marks : 2 Wrong Marks : 0

Which of the following are the measures of Central Tendency?
(Bob a8S° ) BolGiah )8 dSrdaren?

1. Median

Sl ;
Y ANATL YY)
o

Options :

1and 11
i 508050 ii

11 and 111
i1 sH8csn 111

111 and 1v

11. Coefficient i11. Range 1v. Mode
rhesso aT%03) 2TEso

f—t

111 ZoBakn 1v



1 and iT
1 S08as»

Question Number : 68 Question Id : 27028217628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Choose the correct answer based on the two statements. Assertion (A) and
Reason (R) given below:

Assertion (A): Economic position of an mdividual i the society by and large
determines his Class.

S (A) 2.8 8 ) Sireos® «0s &

U-K

08

{)E;-‘"

8 w8 g Hoo)) TPTRa)
Aslenifelat

Reason (R): Economic exploitation of one Class by the other results in class
conflict in Society.

4“1%?&:.;4& R): 28 SR 0GRS Sgo wfgore 6°0E Tabio Sy Sireos” Sydfoo

80 Bngotnod.

Options :

Both ‘A’ and ‘R’ are correct

1 ‘A’ 5B ‘R’ Sotse X0

" 15 correct and ‘R’ 1s false
" 3036 =20 ‘R’ {500

‘A’ 1s false and ‘R’ 1s correct
*A” 50seth 520 ‘R’ 8BRE

Both ‘A’ and ‘R’ are false

4% ‘A’ 58dn ‘R’ Boflr H8seth



Question Number : 69 Question Id : 27028217629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:
Assertion (A): Role is defined as expected ways of behaviour of an individual in
a particular social stams

g5 (A) (8 oD 28 8 TwY) WD rodpd Irree @Ng) edonl
@}Qg“a. ° o ;L'OLJETJ\-.'_JC\J.
Reason (R): Absolute compliance to expected behaviour is a precondition in role
performance of a status.
_gfc?‘_a.‘.'a R) 2.8 _J""Oq.u\:! P

55885550 ésﬁ b,

3
29
e
?‘ji
a2
3
|: 1=}
=
]
g
0
DE
=3
2h
¥,
2k
F
:?i"\
jw]
Ih
]
=
[=x]
{4}
=

Options :

Both A’ and ‘R’ are correct

| % *A’ Zobain R Botie 3058

‘A’ 1s correct and ‘R 1s false

‘A’ 5058 520 ‘R’ H6sth
2. v

‘A’ 15 false and ‘R’ 1s correct
‘A’ H8seth 2R ‘R’ {5856

Both A’ and “R’ are false

4% ‘A’ Shbcin ‘R Gotdh D8zt



Question Number : 70 Question Id : 27028217630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Education trains the next generation in the society to be
responsible citizens.

P53 (A): $5re06') Todah S0 arEraing e i) 8006000
Reason (R): Informal education 1s as important as formal education for an
individual.

_5 ol N 288 = i A A TR - .n:'\. I} 3
oree) (R): &8 o388 edahs i) eh JohE AfE SESorr @d50.
o = -
Options :

Both *A’ and ‘R’ are correct
‘A’ 50Ba» ‘R’ Boiir $8:8a)

*A’ 1s correct and ‘R 1s false
‘A’ 58356 520 ‘R’ #8350

2. %
‘A’ 1s false and ‘R 1s correct
- ‘A’ Hose 520 ‘R EBR36
Both ‘A’ and ‘R’ are false
4 % ‘A’ S8 R’ Sotr 505D

Question Number : 71 Question Id : 27028217631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Max Weber 1s associated with which of the following concepts:
(Bod @ grIJed” Sr5F0d Somogo DA

1. Rationalization 11. Bureaucracy ii1. Authority
- - 5 — = e
E.F@:-méjécaa 6675 JPEg0 Slni=lele)

1v. Verstehen v. Consensus

‘DO 0N’ = Eilewile
Options :

1. 11 and 1v
1, 11 ShBcio 1v

1, 111 0BG 1v

11. 111 and v
11, 111 obdso v

1. 11. 111 and 1v
1. 11, 111 SBG 1v

Question Number : 72 Question Id : 27028217632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Arrange the following books authored by Pierre Bourdieu in the order they were
published:
2000 §°0° 6200 (800 TS0 0 (@HhH0008 Joh@)dind o (Bhdnd”

- L)
0508,

1. Masculine Domination it. Distinction
SPDS CeIRD BROES

i1. Outline of A Theory of Practice  iv. The Logic of Practice

= T NP PG e N o B E (DA
03680 89 o HCEHO «f 080 & eres @y (720580

Options :

1. 111, 1 and 1v

1 % i1, 111, 1 0800 1v

111. 11. 1v and 1

5 111, 11, Iv 0B 1

111. 11. 1 and 1v
1i1. i1, 1 S0Basn iv

11. 1v. 1 and 111
11 1v. 1 208G 111

Question Number : 73 Question Id : 27028217633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:
Assertion (A): Social structure refers to patterned relations and regularities in the
social life.
P53 (A): rodns B8t SrNNtSas doaogren Hoak émw@;‘_ﬁb&

008 2 _J 8 WOk,

Reason (R): In the socialization process individuals mternalize patterned relations
ancl will not deviate from them.
) (R): PArasitn HEME HB SHraHttes Soaored ©0SEBEBOHER

80 B
Options:

Both ‘A’ and ‘R’ are correct

| % ‘A’ pbcin ‘R’ Botir {30

‘A’ 1s correct and ‘R’ 1s false
‘A’ 5056 20 ‘R’ S0s0eD

‘A’ 1s false and ‘R’ 1s correct
‘A’ 9630tk 570 ‘R (9036

Both ‘A’ and ‘R’ are false

4. % ‘A’ sHBan ‘R’ Bodsr H0seth

Question Number : 74 Question Id : 27028217634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the writing of Irawati Karve:
|.‘C|C"r o é-z'ffj CL.-G' c\.,ﬂ_";:ll"_':' "‘TE 6'-:,..,:‘5'5“

1, Kinship OIEHHIEHHDH in India
%-::q_\-:u *E{j{u u_._:\_l B -J.Cdcﬁj_"

11. Gmup Relatmns 1'11 a Village Community

=5 3 OFE

. o
Ii” ol L-'":'n_ D..._n_, Sl ol ol ‘::;J.a_f ﬁ:\,h

111. Cities and Civilization

= =2 N =
wéw '°-"'3'C|'5 {x..-l:.-J*"u':.ﬂf':»..i__H

iv.  States and Minorities
25 008 DrdaD

a0

£

Options :

1 and 111
1 % 1 30600 1

11 and 111
5 % 1100 il

1and 11

1 506050 11
3.

11 and 1v

4 % 11 0Bch) 1v

Question Number : 75 Question Id : 27028217635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Arrange the following books authored by M.N. Srinivas in the order of year of
publication:

L = - s o i~ P - i s - T 3 —v'g - g 5 =
SRR Gng) (Bob 8o 89 ([HHBEHN SoHe)dHn 28 [E008" wdod.

1. Caste in Modern India 11, The Remembered Village
590 B0 B8 Boddir & Bboabdl JBE

11. Marriage and Family in Mysore

T Ty Ty |8 LT
508 wof T 835 b
B 3l i

1v. Religion and Society among Coorgs of South India
BOEADS wob TS wiiroh Er0R &) T8 moddi®

Options :

1v. 111, 11 and 1
1V, 11, 1 S508ain 1

11. 1v. 1. and 111

5 % i1, 1v, 1, s0605 1i1

111. 1v. 1 and 11

T
3 ¢ 11, 1v. 1 30Baio 11

1. 111. 11 and 1v

4 % 1, 111. 11 So8d 1v

Question Number : 76 Question Id : 27028217636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



\-Iatcll the following:
Y G8Resn Sdonddmsn sdatdSod.

Lier List IT
&E”:’é -1 ”"eﬁ - II
1. Rules and Resources a. Ix*nl Manheim
5r) wof bR 520 Sra S5
2. Icleolog} and mela b. Clifford Geertz
péoiree wob ahethar 8% Ay
3. Knowledge and Power ¢. A Giddens
86 wob H356 F'.E—Ec-:-
4. Negara d. Michel Foucault
Jeds DTS §reed
Options :
1 % l-¢ 2-b 3-a 4-d
i 2. 3 A-
5> l-c 2-a 3-d 4-b
1-b  2-¢  3-a 4-d
3. %
4 % l-a 2-¢  3-b 4-d

Question Number : 77 Question Id : 27028217637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Arrange the following Acts in the order by the year they were enacted:
Bod Seren o mo‘ﬁaﬁ**‘icc‘“ SePenre D05 PO &) |é“iozﬂ“ S e)lelal

£

1. The Trade Unions Act 11. The Plantation Labnm‘ Act
= —E & T, | L= X
& B8 chrdahS «f§ 6 sPo&NS Bob =§

111. The Factories A{:t 1v. The Payment of Wages Act
& a8 ’:"‘is: 1 & oS s Juh =5

Options :

11. 111. 1 and 1v
ii. iii. 1 8adn iv

111. 1. 1v and 1
111, 11, 1V Sobaio 1

1. 1v. 111 and 11
3 ¢ 1,1V, 111 3508050 i

1v. 11. 11 and 1
v, 111, 11 SoBao 1

Question Number : 78 Question Id : 27028217638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The theoretical contributions by Thorstein Veblen includes the following:

7688 SpS ang) derod S3en (Bob & =& 599

1. HE‘EEIHGH}F n Dea..lme 1. Letsure Class
-:‘,_u:-.:_.-jv:\, r_m. Gg o @&5 :‘-!:"_’F_,
i1i. Anti-Systemic Movements iv. C‘Gllﬁpicmus Consumption
508 BHNE HrSHo S el Soessd

[5]

v. Pecuniary Emulation

=t =

o0 ST 'uCl_JJL oo -Eéi_:\,'
Options :

1. 11 and 1v

1 % 1, 11 308d0 v

11. 111 and 1v
i1, i1 SHdasn 1v

1. v and v
i1, iv soBain v

111. 1v and v

4 % 111, 1v S06asn v

Question Number : 79 Question Id : 27028217639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The following ar e works on women in society. Match the following:

Bod [ 2308°3)

Last 1
:uéf*é -1

W’ 1dm\ hood in Rural India
i ersod® Ddodsyen

|_|.

-2

200 0N0 obow 8D
3. The Other Side of Silence
& e9¢58 deJ '\-\_IZE' :“':"'M

4. Gender and Land Rights

' ﬂ Hbow O55en

: W riting Caste/Writing Gender

200008

List IT

S8 - 11

a. Sharmila Rege
'E_Je'; 6ﬁ

b. Bina Agarwal
A Sleterd]

¢. Urvashi Butalia
w03 gherdah

d. Martha '»"-Jter Chen

dono 0bcin goah oﬂgj,.- en “**tr:ﬁ c_qﬁgﬁ D
Options :

X 5. : A
1_«1‘:1 2-a  3-c  4-b

5 % l-a 2-¢ 3-b 4-d
3 % l-¢ 2-a 3-d 4-b
4 % -b 2-¢ 3-a 4-d

Question Number : 80 Question Id : 27028217640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



Match the fﬂllou ng:

B0t =5@BS Jrsiras e HBam o

ListI
ég‘f’;’é -1

1. Primary Grc:-up

|..:x_- ou_,§ v.'\.,:uJJ “TG

]

. Generalized Other
PGS Hestoen

3. Id. Ego and Super Ego
58, &, Grnb &R

4. Collective Conscience
ST 5’33“‘*‘*3*@.?

List IT
.:uf.'jé -II

a. G H Mead

= = n:!'\-\I
g eI D.M(:J

b. Signmnd Freud
2yos (arond
c. C H Cooley

B 2 B Cpieit
rd. 0%, 58

d. Emile Dm‘kheim
?“s_'f :i:uo

it} ':—'?":Hjjafbcf)_, &é&)é ‘4(:?3

Options : S
1% 1- b 2-d 3-a 4-c
2. &% I-d 2-b 3-¢ 4-a
3 % 1| 2-¢ 3-b 4d
4. Ic 2-a b td

Question Number : 81 Question Id : 27028217641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Options :



l-a 2-d 3-b 4d-¢

Question Number : 82 Question Id : 27028217642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the contributions by R K Merton

8o ar8S° 08 e G SSSen/graden:

1. Unintended Consequences  11. Manifest and L”li’EIl'[ Functions
wIz08088 ILEHDD 5:5:75;0 w0l B80S HoET

ii1. Self-Fulfilling P‘rn::phe':}F iv. Social Structure and anomie
?:sﬁ\ “ﬁg*ajom [BPaR PhchS l{gé_‘-ﬁ wob ®3° 50

V. Subjecm'lry

Options :

1. 11. 111 and 1v

1 o 1111150050 1v

1. 11 and 1v
1, 11 0650 1v

1. 111, 1v and v
11, 111, 1V 208d0 v



111. 1v and v

4 % 11, 1v b v

Question Number : 83 Question Id : 27028217643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which of the following are methods of non-probability sampling?
806 8 Ob Jograkdsed H&IahHEn(zrohd)

1. Quota Sampling 1. Random Sampling
gt (65 aRm CirgHthS (D&
111, Purposive Sampling 1v. Snowball sampling
QTIPS (D505 Dherd (H8SahHHmn
Options :
1 and 1v

1 % 1300c%w 1v

1. 11 and 1v

5 & 1, 111 0B 1~

1 and 111
1 B m
3. %

1. 11 and 1v
1. 11 30B8adio 1v



Question Number : 84 Question Id : 27028217644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the following:

Bob P Brien 0 N8N oolepen wsissod
ListI List II
588 - 1 S&% - 11
1. Kudiya a. Uttar Pradesh
SBEH 638555
2. Dhuria b. Kerala
tBaD Elel
3. Seharia ¢. Rajasthan
Bbslelon oRe R
4. Gaddi d. Himachal Pradesh
ﬁ; %j}?"r_ﬂjf_' |3:E"E-E
Options :
i 2 3 A-
1% l-a 2«¢ 3d 4-b
I-b 2-a 3-¢ 4-d
2.¢ ‘
= 2 5 =
3 % l-c 2-b 3-a 4-d
l-¢ 2-a 3-d 4-b
4, %

Question Number : 85 Question Id : 27028217645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Match the following:
B0 G50 Sdondad® amddtdod.

ListI List IT

585 - 1 585 - 1I

1. The Gang a. F M Thrasher
& regoh 5. 0ho. (graib

2. Street Comner Society b. G C Homans
285 5eth0 r e &2.0. TFHA
G N0 &P

3. The Little Community ¢. Robert Redfield
& DBS SIS oeed BEDS

4. The Human Group d. W F Whyte
& Ui (1R Ses . D5

Options:

1-b 2-¢  3-a 4-d

I-b  2-a 3-¢ 4-d

Question Number : 86 Question Id : 27028217646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of Primary Group as per
C H Cooley?

gErd (Hsedo (Bobar e DD [areiang Hdrte Gng efmren?
1. Face to face relationship 1. “We’ feeling

Sgrsnd) HSosodo ‘Than’ @) gPaN
111. Small group s1ze iv. Limited Locality

é a:ﬁ RalPar BP0 i'_j;_‘,\_,.aj 5'?:':'-'
Options :
1and 1v

1 % 1:06¢5w 1v

11 and 111
5 % 11300a il

1 and 111
1 308c5n 111

1. 11 and 111
1, 11 B 111
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Across the country. more of the honour killings takes place in
North India.

g% (A): B08° Dt Fen ehSor 68 rEERIos® atheran,

Reason (R): The honour killings are more in some north Indian states due to
continued rigidity of caste system there
THD R): 688 grdnosR £ oiered o 53 51 800 SSFN0Y S

280a) a‘i-"c'-.:ﬁém 9HE0rT &7 0.
Options :

Both *A’ and ‘R’ are correct

‘A’ 8w R’ Botie 3832
1.

*A’ 15 correct and ‘R’ 1s false

> % ‘A’ G030 520 R’ {85

*A’ 1s false and ‘R 1s correct
. ‘A’ {8seth 520 R EGBE6
3.

Both *A’ and ‘R’ are false

4% ‘A’ S0Bain R’ Bor Hbseth
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Who among the following of the Sociuloei&r authored the book ‘Stigma”?
Bob BS° O esras w04 ¢ gyl lplelnley Detn?

"

Options :



T Luckman
1 % T o080

Erving Goffinan

P Ey s
5 280R RN

P L Berger
P L ajgi‘c‘?

G W F Hegel
G W F eriid
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According to Emile Durkheim which of the following is the type of suicide that
happens when the “collective consciousness weakens and regulative powers of
society are dismpred‘

o] cfro,; o meéo SV mﬁmé 58 pefrdid HOckH Jhreo Gng) Jabolds
2H500 Darsod L-.Jzul:;.-“a " 0D 9 FTHEI BB De00EPH?

Options :

Fatalistic

_Tf:]F_;ME :a_.'i?_l_"_"d ?‘_ﬁ c-mls_.?:ﬂ}
1. %

Egoistic

SR ONYS (@:rogrdd wfira)
2. ® s



Anomic
F;EEI-EED\_E | —-;\,rf:,P_E- @P_:' m”éﬂ}

3. %

iﬂtmieric

Blopon}s (H6ErS wErd;)
4. % =
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Bob G e et ekabdo TBD (rhren HHoS0s.

ListI List IT
2088 - 1 58 - II
1. Shamurpet a. Anclre Beteille
NIV 803 D8I
2. Kishangharhi b.MN Sliuh as
u,ﬁr‘i:u cho.che. & 8 0
3. Rampura ¢. Mc Kim Marriot
0% 0] 05 85 HbBaneS
4. Sripuram d. S C Dube
éij(‘f@ dho.h. 58
Options:
< 2- 3 1-
| % I-c 2-b 3-d 4-a
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The ‘Folk-Urban continuum’ concept was first found in the work of:

i o - & T wd Y ) ol T T = = -\.-E o B o T
ePRd Jil6 B'Harnos) &) grad dndé 06b Sdded® 80067
Options:

Robert Redfield

= =k
orend OGoe
£ (=

Ashis Nandi

B e - o
5 % Solr) odOG

T K Oomen

g — AR A —
3 & .5 P

Radcliffe Brown

=y-1=x - =
OrGSs) (B ed
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What were the land tenure systems present in India before independence?
rdansod” ﬁi}éﬁﬂ[gﬁ%ﬁj TPS000) giradrd) AP0 (8ob TAE H6?

1. Jajmani system 1. Ryotwari system 111. Mahalwari system
eeSaird) JpeRio Oe=0 dpeio Sosrerd Dgeso
iv. Zanmundari system v, Bigha system
225200850 agrRo 2P AoeN0
Options :

1. 111 and v
11. 111 Soddin v

11. 111 and 1v
11, 111 0B 1V

1. 11. 111 and 1v
3 % 1, 11, 111 S8 1v

1 and 1
1:5008a% 1
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In which of the following given vear. the ‘National Rural Health Mission” was
launched in India?
FOER308° FANS Grod Pd DAY @ JodE)Bod” @rdofodadSe?

Options:

1.



. 2001

2004

4 % 2010
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The range of role relationships that an individual have by virfue of occupying a

particular social status is called:
2.8 38 a8 [@’33;5@&5 ~PORDE 2RrEe AYEroHE0s ) arEe Hoogre

H66:50883 Hhotrdh?

Options :

Role Set

%5 e (r|@grdn)
1. =

Role Cluster

2 % &°5 826 (arl@e o)

Role Band

3 % 5% erol (arige wotio)



Role Array
8% &0 (arlze (3B)
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\-Iatch the following:

800 grdden HBn rsrad FRHDEeH B85S
ListI List II
88 - 1 588 - II
1. Law of Tluee Stages a. Emile Durkheim

I

e C_FL_ F@' r\,-_uw
: Mechann.al and Orgauic Solidarity
HEPNES HBGn wordE JrOmebE
3]

. Militant ”llld Industrial Society

an®&od nboin modE 05355 P8
4. Gemeiust.hafr and Geaellschaﬁ
ﬁc.ﬂn_, -::..4. D_p Eufl;nﬁgl.- Ay "':F &:Ggl
Options:
1 % l-¢  2-b 3-a 4-d
5 % l-c 2-d 3-b 4-a
E 9. ] 8
3 % 1-b  2-¢  3-a 4-d
l-¢ 2-a 3-b 4-d

DS b Erw
b. Herbert Spencer
*‘-'{j 9 TR Vo)
c. Auguste Comte
ofg 5o

d. Ferdinand Tonnies

"—*“or:; P05
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Who among the following propounded cyclical theory of Social Change?
Bob 88° 5B ey Srdy) Gng), S(Bab Rieodomd BarGoTR.

1. Talcott Parsons 1. Spengler
Pt PN wporid
i11. Toynbee 1v. Sorokin
¢eaHA & SRR
Options:

1. 111 and 1v

1.4

11 and 111
i1 S08ain 1

111 only
111 sm(gho

1 and 1v
1 08d50 1v
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In his theory of Social Change. Karl Marx 1dentified the following different
stages. They are in the order of
g Srfy &3 Mg FEras Sroy drpodod”

DI Bnod”

e

ol Bded Hboweth ®a)

e

L

1. Feudalism i1. Slavery i1, Primitive Comimuinisin
e RIS Ba0ds SaumReo
1v. Socialism v. Capitalism
a0 shtD0
Options :

1. 1, v. 111 and iv
i1, 1, V. 111 85y 1v

11l. 11. 1. v and 1v
i, i1, 1. V S08aiy 1v

1.1, 111, v and 1v

3 % 1.1 1, v oo iv

1. 111, 1v. 11 and v

4 % L 1L IV, 11300am v
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"hich of ng 1s ' tant ai ‘Case Study’:
Which of the following 1s the important aim of ‘Case Stud
Bob BE° OB SR PA' G oxg &GL0?

Options :



Qualitative analysis of a Unit

ahPES AnE) rhweds D
| % o= %

Quantitative analysis of a Unit

5 % Gy @) HDoArErEE D0

In-depth analysis of all aspects of a Unit

> AP @S, o) worrw §°85 Hgsis
3. o ¥ i

Qualitative and Quantitative analysis of a Unit

5 = e 2 g - 2 ¢ ;. L
ADFRE @WE) Meed)E Hdchn J0ITrES P
= = Lad ]
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Which of the following is/are the measure/s of Dispersion?

1808 T8S° DH/SD Jaiaio aing) SPesiraren?
: ERERCRE .

1. Mode ii. Range 1. Standard Dewviation 1v. Chi Square
BEEo 58 Erares Ddwko B D5
Options :

11 and 1v
111 S0ddm 1v

11. 111 and 1v
11, 11 SBckn v



111 only

111 2|80
3. % =

11 and 111
4 11 s08din 1
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Edward Said established the term ‘Orientalism’ as a critical
concept.

g5 (A): RODE Eriferto’ oF) el a8 DhfTd)s gride oo,
Reason (R): “Orientalism’ 1s esteemed and respectful depiction and portrayal of
the Orient by the West.

) (R): (elfiartio’ eof)e

N0 [erifio MO0 Jranie @Y TEH:3r08 Hoa

&
Hdomairod D5,
Options :

Both ‘A" and ‘R’ are correct

_ ‘A’ 0baim ‘R’ Boddr 30253

*A’ 1s correct and ‘R 1s false
‘A’ 5056 520 ‘R’ 2650

*A’ 1s false and ‘R 1s correct
A

3 % " 28seth 570 ‘R {G0R6



Both *A’ and ‘R’ are false

4 % ‘A’ Sobain ‘R’ Botir 50s0th
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Give the se quence of the following stages as explamed by Karl Marx:
55578) DLW DForre (Bod BFw SHH BP0 REHoE.
1. Class for itself i1. Social transformation
$:38%50 HB0 (2R 0 1eTR)) PAEs 2058
111, Class ccrnﬂwt 1v. Claas i 1tself
H Dozvges $36% Sgo (FH &S ufad))
Options:

1v. 1. 111 and 11

- 1v. 1. 111 S08osn 1

. 1, 1v and 111
1. 1. 1V S0Bcin 11

1. 11, 11 and 1v
1, 11, 111 SHddn v

111. 1. 1 and 1v
1, 11, I S508c0 1v
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Match the following:

B0l BS55en N8 Slonded 2858S5086.
ListI

”’-*”é -1

1. Mlhge India
38 molair

I

Village Communities in the East and West

o = 'd-'__ ey n C-
CH_ES" 3Ny “ﬂmf&_r :‘E..' y: = f_:'F E.:

s

. The hldlan /1llage Community
& 508008 ITE ESmrdd
4. Indian Village

20B0HS DS

L)

Options :

1 % 1-b  2-¢  3-a 4-d
5 % I-d 2-b 3-a 4-c
3 @ l1-d 2-a 3-¢ 4-b

4. % 1-a 2-¢ 3-b 4d

List IT
;ﬁé’*é -1I
a. H S Maine

__D'?_u ufl.pl."‘ ? %
b. S C Dube
G095.D. &8

¢. Baden Powel
Has 938

d. Mc Kim Marriat
HE 80 Srebahes
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Which of the following is/are example/s of Social Institution?

(B0l T86° QB[N FrofNE DoNLB GTRrses?
Options :

Family

‘
530080

Economy

= m i AR
a8 o0
! 27

Marriage

o f
oo o0

3. 8% o

All the above

= £ o

- s <
oJdodod
= -

4. & =

Question Number : 104 Question Id : 27028217664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are agencies of ‘Socialization’?
Bod e8S° DB/ Pirasste du)en?

1. Family 1. Peer Group 111. School 1v. Court
BE0080 Ssharon Dm0 ool 55
Options:
1and 1

1w 1300 1



111 only

5 % 111 7o

1. 11. 111 and 1v

3 % 1, 11, Hi1 56 1v

1. 11 and 111

4 1. 11 s08ain 11
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The following of the concepts are associated with Harold Garfinkel:
Bod A6 2 Troee rw&;c’érﬁﬁ} 20208088 graden

1. Accessibility  11. Indexicality 111, Reflexivity 1v. Visibility
Cff':éx 3-.» Q_JI'E' amﬁ%xgjaé% _J -I;L::sa..éj D.;Ejfu.'?_ é
Options :

11 and 111
w 1 0BG 1m

1 and 11
¢ 1308d n

1. 11 and 1v

3 % 1. 111 sHBdin 1v



11. 111 and 1v

4 % 11, 111 HBc 1v
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Who among the following Sociologists used the concepts of ‘life chances” and
‘life opportunities?

(Bf DAoaf o ar o Sooh el B ag i S Y0 - P R g . N ™ Do iy
Sob araraEs vu—-'i_f.ﬁc::%asf-‘ Dot ‘Ed edsraren’ nicn B8 Troe PEED
_ P -0 o

Options :

P A Sorokin
P A 2g%a5

1. #

Max Weber

Talcott Parsons
eeeeS aPtho)

3 % & VY

R K Merton

=" _— =5
0. 8. o
i
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Arrange the following in the order of population size (excluding Agglomeration)
as per 2011 Census:
2011 e:aege Resdd ssgrdore (S0l Aiorod (R Semordired H68:dN) a8 @ng)

ETgR [0 SErdore ([$os® efdod.

1. Dellu it. Mumbai 1. Hyderabad  iv. Bengaluru
&) S00EroD TRl BolErE
Options :

11. 1v. 1 and 111
11, 1v. 1 SoBasn i

11, 111. 1v and 1

11, 1, 1v and 111
1. 1, 1v Sodcio 11

1. 11. 1v and 111
1. 11, 1V S08a 1
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The book by name ‘The Kamar’ is written by:
D 8006 o) [Hof 8358 5% Deeth?

Options :



S C Dube

T
1 S C &r8

M N Srinivas

M N &255

D P Mukherji

3 % D P Fopd

N K Bose
« NK e
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): Social Change that takes place in a traditional society leads to
modernization.

Reason (R): Social Change happening in a traditional society apparently is
minimal and takes place in very slow pace.

53 (A) Solimrad Sireod® PaTHED Piras Sr8) smISseH o0 8500,

= .. o Ty

o) (R): Holimrah Hareod” Jnddsd drdy) H0ddorr shdcn Jordore

2)0t10b.
Options :

Both ‘A’ and ‘R’ are correct

1 ¢ *A’ hbain ‘R’ Todlr H50R



‘A’ 1s correct and ‘R’ 1s false
*A’ 358356 52 ‘R’ 29030

‘A’ 1s false and ‘R’ 1s correct
‘A’ HBseth 520 ‘R’ §0R6

Both A’ and ‘R’ are false

4 % *A’ shBdin ‘R’ Dol H85h
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) gtven below:

Assertion (A): Religion in the society act as a source of cohesion and solidarity.
59 (A): S5ra0s® o SisEs b miiEd &odnon.

Reason (R): Religion was not divinely or supernaturally inspired but is a product
of society.

THH R): H¥o wRh B0 TS, Trderesd FHeiEmd (F0N0SaKBE, 5

ef Hare0 D8 s a0dRGab.
gl
Options :

Both ‘A’ and ‘R’ are correct

‘A’ 0 ‘R’ Bodr $BHD
1. =

‘A’ 1s correct and ‘R 1s false

> % ‘A’ 5036 520 ‘R’ 5850t



*A’ 15 false and *R 1s correct

*A’ H8srth 520 ‘R S0R&

Both ‘A’ and ‘R’ are false

4 % ‘A’ sbbain ‘R’ Bodr H585°h
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The cumulative frequency curves in graphs are also called:

= b P s T, e o
j = E.:t Ty el iy == wll ¥ - s - -
TPe) ol cJOules §J mu__i;csd:fl 3”353_' 3 oeD0oEPE?
_ B e

Options :

The Polygon

The Histogram
Eapbyilf g IS
[

The Ogives

3 \‘/a cugool)

The Historigram
S|

4. i’ £
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The sum of deviations taken from the Arithmetic Mean will always be:

008 o Hod BNEHED Ddvmre @Y FEo JUDEr:

Options :

Dependent on the total of ‘X’ values
Sende @ud) Snso b egrdso

Dependent on the range of ‘X’ values

e TnE) TYN BErdEo

2. % -

Cannot be decided without the knowledge of X Values
X Dendden 8DcHEH0G Tsh)Teiw

Zero

-
e o d™)
-
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What are the different types of NGO registrations that take place in India?

iy By ooy & o whio sl T iy R ¥ 1 R P | -y \ =}
PSEDE0EED DS Beew Siolela H0Ye GIng) Jarth o)) dgrenrr afirbéod.
T c

Options :
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o
" —_ =
'J.-\-"'A\-. ﬂ_,a-_.\-vi___ -
(Sdedd LB ododed ¥
- hay
latat Tl

Section & Cmnpmw Registration

_E'_,L‘-!:_.cu 8 8o '_,-:H_n[m-::...mﬂt

Society Registration
Fd B8R

All the above

= oy, Oy - .
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According to Karl Marx the ‘alienation’ of worker 1s of from:
520555 (9580 (8od 58 HHod s SPEE0R) GIog), Febidaye Gotnoh

1. the Product i1. the family
&8\8 D00y 2 Stno0
1i1. the productive activity 1v. the society
&&)8 (35D 2I8TPe20
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R
| w 1000 1
11 only
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Choose the correct answer based on the two statements Assertion (A) and Reason

(R) given below:

Assertion (A): Karl Marx and Lewis Coser are labelled as belonging to the school

of ‘Conflict Sociology’.

g (A): 5°0rh) HBcin erond BW6 ‘Voshges Sdrawdos Joddahmr
roBoalaned.

Reason (R): Both the above Sociologists recogmzed the significance and

inevitability of conflict and the consequent social change in the Society.

THH R): D e Faras PRI Sohn Ty npd Hoak: E5906
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PSS PRres 2P Heres0d” Gotwoh el graoTrd.
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5 % ‘A’ 3838 522 ‘R’ H65th
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‘A’ D0s¢h 520 R S8R
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4. % ‘A’ 5800 ‘R’ Botlr H0s0%
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Transmussion of cultural traits from one cultural group to another is called:
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Options :

Accommodation
cadoETeen
[

Diffusion
VLN,

fo)

Acculturation
D0 885
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Technique that 1s used to collect data before conduct of actual field study 1s
known as:

Tras Evﬁfigox B0 5000 SEr0d WECRD GHdrA0D derod HEsH L-.f;,q
ol L2 S B 7

207
Options:

Elementary Study

% < - Is i
sRtians efiichno
=
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Sample Study
5 % Surar egichdo
Pilot Study
208 egichdo
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Advance Study
4% 5085 egchdo
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Rank Correlation as a measure was developed by which of the following
statistician?
0B 08" & fezros PG 0508 IrRonogod ©PHa dwtd?
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Karl Pearson

&= & i E
5°0 adhY)e

1. %
Yule
5 % core
Benjamin
3 % Blo88na
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Given below are the marks obtained by the students in a exanunation. Find out
Median marks.
29. 44. 46.46. 48, 52. 54. 68, 70 and 72
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29, 44, 46, 46, 48, 52, 54, 68, 70 Baw 72
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): The Constitution of India does not patronize any religion.

erae (A): erse cr&aeﬂéoﬁsix 2) 2.8 sham)) @%}&woéﬂl

Reason (R): Religion 1s not a significant force in a modern society.

) (R): @GhR8 Daireod® o ok E@E“iﬁf{j@é 385080 8.
N L]

Options:
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1 % ‘A’ 08cin Bofir J0R

‘A’ 1s correct and ‘R’ 1s false and ‘R’ 1s not correct explanation of “A’

> o *A’ 30838 573 ‘R’ {[050th sbbdin ‘R’ G035 23538 50h

‘A’ 1s false and ‘R’ 1s correct
*A’ (6seth 590 ‘R 3838

Both ‘A’ and ‘R’ are false

4% ‘A’ S08cin ‘R’ Bodr H8seth
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Sorokin postulated that society fluctuates between/among different types of
social change m the course of history. What are they?
SOSHBE° S0 DA 858N Areras Srse ,pjﬁie.-“é FORN0 Jother

6080059 r8P8S erdomrt. ®2 H?

1. Dynamic i. Deviational 11l Sensate v, Idearioml
G5 EIERIS NS DB
(r&de) (QeSords) (G°88 H56h) (DodTrd)s)
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1. 11, S08aho 111

1. 11, 111 and 1v
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Arrange the following peasant movements m the order as they took place:
B08 Bt D& 6iiiren ©a) I eNdnE ) dodd o (B:n0d” whdod.

)
]

1. Champaran Movement i1. Moplah Rebellion
SoarEa 6o arg) 6o
i11. Santhal Insurrection iv. Kheda Peasant Struggle
Somed BBrDeren Psped Sfoveo
Options:

1. 1i1. 1v and i1
1 % L 1iL 1V H0cin i

i1, 1, 111 and 1v
ii. 1, 111 S08d5m 1v

111. 1. 1v and 11
111, 1. 1v 08adso 11

1v. 1. 1 and 111
1V, 11, 1 SoBahn 111
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Arrange the following different Acts in the order they were made:
Bod DA 5&:“&:2?3:- @) DN JoRETre egrdore (Sshod” wihdod.

1. The CSpecnl Marriage Act 1. Hindu Marriage Act
6 RS S70E 08 Srote S°08 O

11. I—Imdu Succession Act

';'L,-n E ~F
(olny w:s eSS oS

iv. The Child Marriage Restraint (Amendment} Act
& Eﬁf STPOES awﬂég @'_-.’:I:'CE GJD

]

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

i, 111, 1v and 1
1, 1il. 1V S08aso 11

1. 1v. 111 and 1
1. 1v, 11 Sobaddo 1

11. 111. 1v and 1

11, 111, 1V 080 1
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Arrange the following Women organizations in the order they were established:

Bod (& SoPen @9 HBES HoddBo of [B:hos® wi)od.

K
1. Bharat Str1 Mahamandal
ePiE [R) ShiPhodd
11. Women Indian Association
Saon Bofche wfthdhaa
i1, National Council of Women in India
J36 NS 69 6 B BoAATP
1v.  Bharath Mahila Parishad
arda e H0X6

Options :

1. 1. 111 and 1v
11. 1, 11 B 1v
W

1.

1, 111, 11 and 1v

1, 11, 11 Sdd 1v
2. W

111, 11. 1 and 1v

1i1, 11. 1 S8an 1v
3_ W

1v. 1. 11 and 111
. v, 1. 11 SoBcko 1m
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National Commission for Women was set up in the year:
;:4$J°E _E-:\f' & :_,D S0 u::-.Jd Tat s C"H_.'Jé 80

Options :

=
1« 1992

, % 1995

5 % 1989

4 % 1998
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Arrange the following countries in the order of having largest Indian diaspora as
per the UN report of ‘International Migration 2020- Highlights™:

ch:ﬁFa {Jm c:i‘wé ‘Boe ﬁ aﬁjﬁf ﬁ:ﬁg@ 2020378y DR6E sprtore whsore

P58 [Harden 63 deoid [Bos® 20808,

1. Saudi Arabia 1. United States of America
6 SO anIBE ) ©f sDos
111. United Arab Emirates tv. Australia
C0S0E @bd D) =TtV
Options :

11. 1. 111 and 1v
1 % 1i. 1. 111 S0Bacin 1v



11i. 11. 1. and 1v
1ii. ii. 1, HoBa50 1v
v

111. 1. 11 and 1v
1ii. 1. 11 208c5w iv

11, 11, 1v and 1
11, 111, 1V Sobdio 1
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Who among the following was associated with the concept of ‘Commodity
fetishism’
o
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Options :

Max Weber
SoeBy 326

Malinowski
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Karl Marx
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Who are the different partiefs. that we see in Jajmani System?

1B - L L -'5
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1. Malik i1. Jajman 1i1. Naukar iv. Kameen
Sr85 e T Eictel S
Options :
1' and 111
1 2085w 11
1.
1 and 1v
1l shBckn 1v
2.9
i1 and 111
11 2 Bc5H 111
3. %
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1, 11, i1 B 1v
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Match the following:
(o8 Tr8J @a) BdAS oIS Tred” us0S00.

ListI List IT

288 -1 o&8 - 11

1. Indigo Revolt a. 1946
[0&R° Srbheren

2. Rangpur Uprising b. 1832
Sohdrb &oirberex

3. Kol Rebellion c. 1859
8% Do

4. Tebhaga Movement d. 1783

Bgrh 635500
Options :

I-b 2-¢  3-a 4-d

1. #®

l-c 2-b 3-d 4-a
2. %
3. % l-a 2-c 3-b 4
4. v EE 2-d 3-b 4-a
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): There is no society across the globe that is free from deviance.
gPSS (A): efrdotiwost D50 ESbleky B $5m0 GOL.

Reason (R): Deviance as well as Conformity are continuous processes i the
society.
2R IS (DG Hdak wmrbeE Dotse Hireod® 408 JodY (HBaben.

Options:

Both ‘A" and ‘R’ are correct

‘A’ S508a0 ‘R’ Boiir S8
1.¢ -

‘A’ 1s correct and ‘R’ 1s false
‘A’ 5056 522 ‘R’ &85t

‘A’ 1s false and ‘R’ 1s correct
‘A’ H0seth =20 ‘R’ E0:R6

Both ‘A’ and ‘R’ are false
‘A’ S8c ‘R’ Bosr HSBsD
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“The Ecology of Freedom’ is the book authored b}? WthH of the following?

‘6 Jseod 8 BED " @) (o SSond (Bob 3 0 DH5?
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Theodor Adorno
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The traditional medical practices related to cultural interpretation of health.
diseases and illness 1s called:
=80, ey hbain o Soeogod o) BE Db gfh Dolmedh ebit

iqj:iea, B WOEPH.
Options :

Enduring Medicine

it
Feated SeEro
o a_ gl

Classical Medicine
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Gerniatric Medicine
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below:

Assertion (A): To some Sociologists. social stratification 1s functional in the
soclety.

353 (A) FosHod rsres wdded rsres 856n adb Shreodt fo o8
25856503 ®odo.
Reason (R): Social stratification assigns power. prestige and privileges to each of
the members of the society.

o - o £y o
ey ¢ Ardirel H08Gn Hdreof’D (56 588 Sdraos® ERS oo, S0
o) )& o)i5
SBasm l;ﬁ@éé Trres SEraniiod.
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| ¢ ‘A DB ‘R’ Borkr ¥PI

‘A’ 1s correct and ‘R’ 1s false

5 % ‘A’ 3058 520 ‘R’ 5850



‘A’ 1s false and ‘R’ 1s correct
‘A’ H0seeh 520 ‘R SDH6

Both *A” and ‘R’ are false
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The revised National Forest Policy-1988 aims at the following:

- P - = =i . = = =5
DB0DN TLHS 0] red-1988 dng) oFio (Sob 8E° 67
1. Protection of the forest 1. Conservation of the forest

BETH) BP0 e D055
ii1. Development of the forest 1v. Wide life protection in the forest
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Arrange the following legislation pertaining to Environment in the order they
were enacted:

o o 1| T = - R Y o =5
20065 080800 50b Stredh @ [Hadnds Soadore egrdore (Ehod”
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2 The Environment Protection Act
& TR0t (Er8gN o8
1L The National Environmental Tribunal Act

PR [T~ - N =3 Cooa, =il
& VRO TR0 (Henide @5
C80] 3

u.  The Air (Prevention and Control of Pollution) Act

& 26 (D3R =of S0 6 srorgis) =

1v.  The Forest (Conservation) Act

& F0Y (55:5038) ©f
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Match the following:

1 B =1 & ol wh o = D
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Soka Gakkai

ffge r‘ﬁaﬂé{ﬁ;

2. Eastern Orthodox
'én|-:~_mu ”SQEE'_"%}
3. Orthodox Union
-ﬂgcté_,r GOrERAHR
4. 3HO
3 2. 2.
Options :
1% l1-¢ 2-a 3-b
1-d 2-¢  3-a
2.
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I-b  2-a 3-c
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a.

d.

Christian Organization in Hawaii
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SPareduda BRHS D o%

| eu‘iah Dl ganization in USA
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Buddhist Organization in Japan
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The National Youth Policy 2021 seeks to catalyse action on Youth Development
in which of the following areas?
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1. Education 1. Employment and Entrepreneurship
3l &G 00 TamErs Hhdden

1. Youth Leadership and Development
dinaid O6aE Doch) vt

iv. Healthy fitness and Sports v. Social Justice
9:955riélorr° 60tt0 nbam (Stsen ~Pogng Tao
Options :

11 and 11
11 S8 111

1 and 11
> % 150Bcim il

1 and 1v
S
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Match the following:
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1. The Christian Marriage Act a. 1936

RS- T I — él_:
& BR0DS 08 @b

[

. The Parsi Marriage and Divorce Act b. 1939
& ) Sr0f wof B5°G) =§
3. The Dissolution of Muslim Marriage Act c. 1872
& BRParS of Snfo 508 «f
4. The Foreign Marriage Act d. 1969
& P00 08 @8
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The ‘Protection of Women from Domestic Violence Act’ is meant to protect
women against violence in the area/’s of:
& EPBES &9 Do (P FarRS Sahed) 85-2005 o0 (Mo & Bol E)

38 S0 85w 59067

i. physical abuse i1. sexual abuse
22008 orod BoAs arodd
111. verbal and emotional abuse 1v. economic abuse
GG, SmshE ol @%é A
Options :
1 only
1% 1 3y (i Te
1and 1
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What is the crime rate registered per lakh children population as per records of
National Crime Records Bureau in 2021:
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A group of individuals who mteract with each other through specific social media
to pursue mutual interest. crossing geographical boundaries 1s called:
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Arrange the following key happenings in Science and Technology field m the
order they happened:
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Any unlawful act im which computer or computer network is used to conmut or
facilitate commission of a crime. it is called:
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112 1s a pan India number of Emergency Response Support System (ERSS) that
can be used by the citizens for which of the following emergencies?
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Arrange the following language wise ‘Daily Publications” from Higher to Lower
order:
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The 42* Amendment of the Constitution of India added which of the following
words:
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Match the follow i.ll‘? feati& als with the states where they are celebrated:
806 Hofhiten @ 2860 Toap e of° 2808508,

ListI List IT

me:’*' e | S88 - 11

1. RﬂJa Parba a. Assam
Toesi) B0

2. Bc:rhaf:r Bihu b. Himachal Pradesh

ARSI SREARRLY SRSPSS (D0

3. Gugga Naumi ¢. Rajasthan
roresiah lo=twih]

4. Gangaur d. Odisha
forrd Mty

Options :



5 % l-a 2-c 3-b 4-d
l-¢ 2-d 3-b 4-a

3_ W
I-b  2-¢  3-a 4-d

4. ®

Question Number : 149 Question Id : 27028217709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the following:

v

1Bob Do
= @
ListI
88 - 1
1. Theosophical Society
HTPTHES Fpd
. Sathva Sodak Sama;j

s ol v E
e B°008 Saires
=

3. SN D P Movement

-2

4. Prarthana Samaj

B S

Options :
1I-d 2-b 3-a 4-c
1-d 2-a 3-b 4-

o) N =Y oy o
e a8 Doaoboo

[y

aba) eedsiddod.
List IT

585 - 11

a. Jyothi Ba Phule

& ndigr

) o

b. Sr1 Narayan Guru
© ~roRChE UM

¢. Mahadev Govind Ranade
55788 A*Dob 538

d. Annie Besant
28208



1-d 2b 3¢ 41

1-b

-3

-c 3-a 4-d

Question Number : 150 Question Id : 27028217710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match the following Art forms and States:
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